1. The graph of a linear inequality consists of a line and some points on both sides of the line.  False, All infeasible points are on one side and All feasible points are on the other side.
2. The graph of a linear inequality consists of a line and only some of the points on one side of the line.  False, All the points Not Some.
3. The graph of a linear inequality consists of a line and all of the points on one side of the line. True

4. If a linear programming problem has a solution at all, it will have a solution at some corner of the feasible region. True, an optimal solution must occur at an extreme point even when it occurs at a boundary point it also occurs at the extreme point (which is the case of multiple solutions). 

5. No point other than a corner of the feasible region can be a solution to an LP problem. False, it may occur also at a boundary point – which may not be a corner (extreme) point, i.e., the case of multiple solutions. 

6. No point in the interior of the feasible region can be a solution to an LP problem. True, unless the objective function is a constant.  For example Max 5, subject to 1 ( X ( 5, any feasible point is an optimal solution too.

7. Every LP problem has a solution. False, e.g. Max X, subject to X ( 10, X ( 5. (which is infeasible, has no solution)

8. Every LP problem with a bounded nonempty feasible region has a solution.  True. Since is has a bounded feasible region its solution if exists is bounded, and since the feasible region is nonempty  (unlike the feasible region in 7) it has a bounded solution.

9. No LP problem with an unbounded feasible region has a solution. False.  Min X, subject to X ( 1.  The solution is X = 1. Right?
10. The graphical method is practical for all LP problems. False. If number of decision variables exceeds 2 or 3 it’s impossible to graph the feasible region.  That’s why we use computer packages such as LINDO to solve large-scale LP problems.
11. Constraints can always be turned into equations by adding slack variables to the left-hand sides. False. The constrains must be in the form of ( . 

12. Constraints can always be turned into equations by subtracting surplus variables from the left-hand sides. False. The constraints must be in the form of (.
13. Constraints can always be turned into equations by adding or subtracting slack or surplus variables from the left-hand sides as appropriate. True. Slack and Surplus variables are always non-negative.
14. To minimize an objective function f(x) you can instead maximize -f(x), solutions are the same, however, optimal values are different. True Pg 18
15. In a basic solution some of the variables are 0. False. For example,
Max 5X1 + 3X2, subject to: 2X1 + X2 = 40, X1 + 2X2 = 50, X1, X2 non-negative, has both basic variables non-zero. Please, check this out by implementing on your LINDO package.
16. In the non-basic solution non of the variables are 0 False. All non-basic variables are always zero.  That is why they are not even listed in the output of your LINDO  package.
